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Chapter 09 O|th A|AEO] AlZE S 3

[Quick Review]
[1] Ans) &)

[2] Ans) FIR
[3] Ans) O
[4] Ans) %
[5]1 Ans)

[6] Ans) &%
[7] Ans)

[8] Ans) &3
[9] Ans) X
[10] Ans) X
[11] Ans) 6
[12] Ans) O
[13] Ans) NZHA7], F417], 51417
[14] Ans) A=A
[15] Ans) X
[16] Ans) <
[17] Ans) O

[18] Ans) n>0
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[19] Ans) O

[20] Ans) <
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9.1 Ans) hln] = +(-

9.2 Ans)
(@) ylnl=1[1, 2, 3, 2, 1]

[71% EA]

4y[n]

9.3 Ans)
(a) hln]= 3(*)”u[n] +3uln—1]

(b) hin]=uln—4]+a"uln]

9.4 Ans)
(a) ® n<—2 :oylnl=0
@ —2=n<1: y[-2]=2[-2]=4
yl—1]=z[-2]+z[-1]=6
ylol=z[—2]+z[—1]+z[0]=7
@ n=1 y[n]:7.5
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(b) D n<o0 ©oylnl=0
@0=<n<3 : y[n]Z(%)n
®nz3 o oyll=(G)r -0
(c) D n<o : y[n}ZO
@n=0 : y[n]zz—%)n
9.5 Ans)
(a) A A|2El EQbA s A~
(b) W3} A 2w O3 A]2E]

(©) MIQ1T A2, bgF A 2w
°

(d) BIA} Al =8l A g A 2~ H]
9.6 Ans) @b,

9.7 Ans) yln]—0.25y[n—2] =2z[n]

9.8 Ans)
(a) (1) HHE didH
rl0l=—2n[—1]+6l0] =1
Rl1]=—2nl0]+46[1] = —2(1)=—2
h2]=—2h[1]+6[2] = —2(—2)=4
h(3] =—2_h[2]+6[3] = —2(4)=-28
A =—2:h[k:—1]+5[k]=(—2)k

nl0) = 2 h(= 11— Thl-2)+al0] =1
(1] = %h[o}— %h[_1]+5[1] :%
h(2]= %hm— %h[OH(s[z] - %
nl3) = 2hl2l— Thl1]+ol3] = o

1 1



hl0] =—3h[—1]—2n[—2]+45[0]+6[—1]=1

h(1] =—3h[0] —2h[—1]+6[1]+6[0] =—2=(—2)*
h[2] =—3h[1] —2h[0] +6[2] +6[1] =4 = (—2)*
h[3] 2]

=—3h —2h[1]+68[3]+6[2]=—8=(—2)*
hlk] ::—3h[k— 1] —2h[k—2] +5[k] +6[k—1] = (—2)*

~ hln]=(=2)"

(it) 2@A &Y : hln] = (=2)"uln]

9.9 Ans)

(@) yln] =0.5(-=0.5)"

1 n n
LD +a) -

(© yln] = (%n + %)(f %) v 2

(b) yln] =

9.10 Ans)

(a) o4

yin]  x{n]

(b) =2

—
oL

¢

-2 0.16

(b) & M2 HEEH
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> y[n]  xn] 0

(b) X M2 NZH

0 yin]  x[n] 0

N

2

(a) M2 A& (b) X M2 HEE
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9.11 Ans)
(@) hln]=[1, —2, 3]
(b) hln]=11, 2, 2, 3]
(¢) hln]=1[0-5, 0.5]

9.12 Ans)
(@ y,[nl=1[1, 1, 2, 2, 2, —4, 1, —5]
®) ylnl=0b, -1, 4, —2, =2, —2, —1, —1]
(© ylnl=11,1,2 2 2, 1,0 —1, =2, -2, —2, —1, —1]
(d ylnl =y, [n]+yy[n—5]

9.13 Ans)

9.14 Ans)
(@ () zn]l=0: yhl=—4(=2)"+2(—1)"
() zn]=6[n] : ynl=—2(=2)"+(=1)", n=0

(i) z[n] =uln] : y[n]:—%(fwn-{-%(fl)n_k%

(iv) z[n]=(0.5)"uln] wa—%+qﬁ+§(nuﬁ%mw
M @ znl=0: yhl=(2n—3)(—1)"

(i) ln] =6ln] © yl)=(—n—2)(1)", n=0

(M)ﬂﬂzuM}ZMM:%—%nf%nym+i

() aln) = O3 uln) ¢ ylnl =~ 30— 2|1+ L5y

9.15 Ans) yln]+3yln—1]+2yn—2] = z[n]



